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Standard Classes and Interfaces — Supplemental Reference

cl ass java.l ong. bj ect

(0]
(0]
0

bool ean equal s ) Ohj ect ot her)
String toString ()
I nt hashCode ()

i nterface java.l ang. Conpar abl e<T>

(0]

cl ass java.l ang. | nteger

OO0OO0OO0OO0OO0O0

Int conpareTo (T other)

Return value ,0 if this is less than other.
Return value = 0 if this is equal to other.
Return vale > 0 if this is greater than other.

i mpl ement s
Conpar abl e<I nt eger >
i nteger (int value)
int intValue ()
bool ean equal s (Ohj ect obj)

String toString ()

i nt compareTo (Integer anotherlnteger)

static in parselnt (String s)

static int parselnt (String s, int
radi x)

cl ass java.l ang. Doubl e i npl enent s

OO0OO0OO0OO0O0

Conpar abl e<Doubl e>
Doubl e (doubl e val ue)
doubl e doubl eVal ue ()
bool ean equal s (hj ect obj)
String toString ()
I nt conpareTo (Doubl e anot her Doubl e)
static doubl e parseDouble (String s)

class java.lang. String inplements

(0]
(0]
(0]
(0]

Conpar abl e<Stri ng>
int conmpareTo (String anotherString)
bool ean equal s (Ohject obj)
int length ()

String substring (int begin, int end)
Returns the substring starting at index begi n and
ending atindex (end — 1).

String substring (int begin)

Returns substring (from length()).

int indexOf (String str)

Returns the index within this string of the first
occurrence of str. Returns-1lifstr isnot

found.

int index (String str,
from ndex)

Returns the index within this string of the first
occurrence of st r, starting the search at the
specified index. Returns - 1 if st r is not found.
char At (int index)
int indexOtY (int ch)
int indexOf (int ch,
String toLower Case ()
String toUpperCase ()
String [] split (String regex)
bool ean mat ches (String regex)

i nt

int from ndex)

| ass java.l ang. Character

boolean
boolean
boolean

static
static
static
static
static
static
static

isDigit (char ch)
isLetter (char ch)
isLetterOrDigit (char ch)
boolean isLowerCase (char ch)
boolean isUpperCase (char ch)
char toUpperCase (char ch)

char toLowerCase (char ch)

OO0OO0OO0OO0OO0O0

class java.lang.Math

0 static
0 static
o static

int abs (int a)
double abs (double a)
double pow (double base,
double exponent)
sqrt (double a)
ceil (double a)
floor (double a)
double min (double a, double b)
double max (double a, double b)
int min (int a, int b)
int max (int a, int b)
static long round (double a)
static double random ()
Returns a doubl e value with a positive sign,

greater than or equal to 0. 0 and less than 1. 0.

double
double
double

static
static
static
static
static
static
static

OO0OO0OO0OO0OO0O0O0O0OO0

nterface java.util.List<E>

0 bool ean add(E e)

o int size ()

o Iterator<E> listlterator()
o E get (int index)

0 E set (int index, E e)

Replaces the element at i ndex with the object

e.

o Void add (int index, E e)
Inserts the object e at positioni ndex, sliding
elements at position i ndex and higher to the

right (adds 1 to their indices) and adjusts si ze.
o E renove (int index)

Removes element from position i ndex, sliding
elements at position (i ndex + 1) and higher
to the left (subtracts 1 from their indices) and
adjusts si ze.

class java.util.ArrayLi st<E> i npl enents

Li st <BE>

class java.util.LinkedLi st<E> inpl ements

Li st<E>, Queue<E>
Methods in addition to the List methods:

Void addFirst (E e)

Voi d addLast (E e)

E getFirst ()

E getlLast ()

E renoveFirst ()

E renovelLast ()

O0OO0O0OO0O0



Computer Science Invitational Test S19A - continued

i nt nobon=1;

String str="hell 0"+ (nmoon>1?" goodbye "+npon+" yes
maybe ");

out.print(str);

no "+moon+"

34. What is the output of the code segment shown above?

A. hello no 1 maybe
B. hello goodbye 1 yes
C. no 1 maybe
D. goodbye 1 yes
E. hello no maybe
35. Which of the following cannot replace <code> in Arrayli st <l nteger> |ist=new
the code segment shown on the right? ArraylLi st <l nteger>();
A int list.add(1);!list.add(2);
B. |nteger ||Stadd(5),||3tadd(6),
C. doubl e for(<code> i:list)
D. Arraylist out.printin(i);
E. More than one of the above.
36. Which of the following is true about the data
structure diagrammed on the right? o
A. Itisa binary search tree.
B. Itisa max heap. e 9
C. ltisacomplete tree.
D. Itisa minheap. o @ o
E. Itisacomplete graph.

37. Which of the following Boolean expressions is

equivalent to the diagram shown on the right? B A_
. AxBaC C:)D_

A
B. AxB&C
C. A+B=x*C
D. A*xC%B
E. AxB+C

38. The graph on the right is

undirected, weighted and complete
directed, weighted and complete
directed and unweighted
connected, simple and complete
directed and weighted

mMoO®»
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Computer Science Invitational Test S19B - continued

27.

28.

29.

30.

What is printed by the main method in public class Array2D {

the class Ar r ay 2D shown on the right?

public static void main(String[] args) {

A. [0, 1, 2] int[][] mat= {{8,2,1},
[2, 3, 5] {6, 5’ 9},
L6, 8. 9] {0.3,2}};
int[][] tament d(mat);
B. [1, 2, 8] for(int[] r:tam
[5 6 9] out.println(Arrays.toString(r));
[0, 2, 3] }
public static int[][] md(int[]J[] mM {
¢. [0, 2, 1] int x=n{0].length;
[g’ g S] for(int i=0:i<x:i++) {
[8 5 9] int[] t=new int[mlength];
for(int k=0; k<m | engt h; k++)
0- [0 2. 8] t[k]=n{ k] [i];
[;, g g] Arrays.sort(t);
[2, 5 9] for(int k=0;k<m | ength; k++)
e s 2 1 nT k] [i]=t[k];
[6, 5 9]
[0 3 2] ;eturn m
}
What is the output of the code segment shown on the right? | j nt s=0:
A, 39 for(int x=19;x<=39; x++)
8. 105 i{f(x"/@——O)continue'
C. 223 . _ !
D. 367 'i(_i%g:o)break;
E. 609 }S —

out.print(s);

What the output of line #1 in the code segment shown to the right?

A [2, 4, 4, 8] //Use the followi ng code segment to answer
B. [4, 2, 8, 4] /] questions 29 and 30.

c [4 8 2 4] Set <I nt eger > sl1=new TreeSet <l nteger>():

D. [4, 2, 8] Set <I nt eger > s2=new Tr eeSet <I nt eger >();

E. [2, 4, 8] sl.add(4);sl.add(2);sl.add(8);sl.add(4);

What the output of line #2 in the
code segment shown to the right?

s2.add(4);s2.add(3);s2.add(1);s2.add(2);
out.println(sl);//line #1
sl.renmoveAll (s2);

A, [8] out.println(sl);//line #2
B. [1, 3]

C. [3, 1]

D. [1, 2, 3, 4, 8]

E. [4, 2]
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Computer Science Invitational Test S19D - continued

char chr[] = {'x','e','u','a','o','n'",'g'};
int m=0,n=1;
while (chr[m]!='o") {
n=m; m++;
}

10. At the conclusion of the while loop, which of the following statements is true about the code
segment shown above?

n stores the index value of the character 'o'

m and n are equal

n stores the index value of the character 'a’

m stores the index value of the character 'a’

n and m both store the index value of the character 'o'

moowp

public static void main(String[] args) throws IOException{
File f=new File("input.dat");
Scanner scan=<code>;
int c=scan.nextInt () ;
for (int x=1;x<=c;x++)
out.print (scan.nextInt ()+" ");
scan.close();

}

11. Which of the following must replace <code> in the main method shown above to ensure that
scan is a Scanner object associated with a file named input.dat? Assume that all necessary
classes have been imported.

A. new Scanner ()
B. new Scanner (f)
C. new Scanner ("input.dat");
D. "input.dat"
E. f
12. What is printed by the code segment String s1="";
listed on the right? String s2="mottthehoople";
A, coetm for (int i=82.length()—1;i>=O;i—=3)
B. mteoe Sl+=§2 .charAt (1) ;
C. loht out.print (sl);
D. elpoohehtttom
E. There is no output. Throws an ArraylndexOutOfBoundsException.
13. What is the output of the code segment shown on the right?
A, 17 17 7 int x=8,y=-5,2z=7;
B. 20 12 17 x=y=z+10;
C. 17 17 17 OUT.pTint (x+" "yt "iz);
D. 8 -5 17
E. 20 17 17
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